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The molecule below has two stereocenters and a double bond. What is the total number of stereoisomers that can exist for this
molecule?

 (A) 2   (B) 3   (C) 4   (D) 6   (E) 8

Ã—VIDEO SOLUTION

How to Reach Us
Todd's Test Prep 

2255 Glades Road 
Suite 324A 

Boca Raton, Florida 33431
E-mail: help@orgoreview.com

file:///
mailto:?body=http://orgoreview.com/question/66803058445e642e840104f912013d42/
file:///
mailto:help@orgoreview.com


Links
Contact
Terms

Privacy Policy

follow us

Copyright 2025. All Rights Reserved.

file:///contact/
https://www.orgoreview.com/terms
https://www.orgoreview.com/privacy-policy
https://www.youtube.com/@orgoreview8403
https://www.facebook.com/profile.php?id=100083394579837

	ORGOREVIEW
	Question Vault
	VIDEO SOLUTION Ã—


